F2-15HKK Hh 3 B R ST 4l B¢
BLETMENAKXICEATEHEMAS
BHES IEFER I E £ I £ @ 7 T E MG (FiAH) AfLARH I = # =
[B&#R1])
= — . = DIP.GX ¢ 150 L=241.0m. DIP.GX ¢ 100 L=7.5m. DIP.GX ¢ 75 L=13.0m. HPPE ¢ 50 L=1.0m
+ k1100278 ki (EF-1DERAEHRETE FRMI—THE FE—THEN ¥45 969 000 — e FEBI.GX ¢ 150: 435 FEUIF GX b 100+ 128, HEGIFF OX 7520 S AAE b 75 12
TEKEZEF 6100 15
TEDOBIER Hhis E Rk ERE FDith
§$ﬁﬁlﬁﬁ E*E e §§I$ ISO ﬁﬂil$ 7'{3)7—_47 ?tﬁr—c. - = < - ek esc - - . §$1ﬁ:§\3§+ huﬁlﬁ\o);ﬁlﬁ\ {ﬁ%
I$5§*§ I$Ej‘:ﬁ‘ﬁ ﬁﬁ; E%]Egg%;)f% EEIEE ﬁ%%%ﬁ 5E§JJ t'l‘iiﬁﬁg Iﬂiﬁ'*mﬂt BEW'/J&D{ ?E%r—?imﬁj\ Egﬁﬂilf'% QEEIEE
[iGY= 2 2 1 — 1 2 1 2 2 GRs=) (R =) — 17 10.000
[fE4E LA D EE R ]
TEDEIEE thisk EokEE FDith
AtLE - s | EAIE IS0 EWIH [R5V 747| FET | mpm.se P ; R B =
TEEE TERE = {]EQE%;% HEHIER e e AR BRE-EHE | BF-E |ERELELS | REBLEZEE | BHHIEHR
HRAa FLM R
HXEtt HRHD 2 0 0 — 1 1 0 0 1 0 0 — 7 10.000
| FHfimsoFEy | 7000 |
[#EERAFER)
ALIERE (BithE) FEALBRERE (REEHE) WSS | AT % - =
ARLE (A) EALL 0 > o T o2 mEE - (B) () 000 (8) |/t 0,000,000 EHE FHEREOBRR
H_A S HRHD 10.000 B K 4 ER £ A H
S & B H
S & A H
AFLE LB (BiiRE) BEER (EAEEFHE) X1 ME A FHEE R/ N B E ISR ALEIMLETRR
HEST I E 41,790,000 100.000 239.292 X2:MER=RR/REFHR) X MERADER)




